
    WK 
420 500

Type UZCR6 WK 420 500 07.2012

07.2012

- 1 -

dm /min3

AAAA
TTTT(YYYY)

PPPP1111
AAAA1111

TTTT1111

PPPP

→→→→TTTT
←←←← A1 A1 A1 A1

↔↔↔↔ AAAA

BBBB

BBBB1111

subplate side

component side

←←←← PPPP

TTTT(YYYY)

PPPP1111

TTTT1111

PPPP

↔↔↔↔P1P1P1P1

→→→→TTTT

BBBB

BBBB1111

AAAA

AAAA1111

subplate side

component sideUZCR6 - 32/315 - 2 P

UZCR6 - 32/315 - 2 AZ

1234 56

7

The valve consists of pilot valve and main valve. The 

reduced pressure acts on the lower face of main     

spool (1), and through nozzle (2) also on the upper face 

and through nozzle (3) on pilot valve poppet (4). In rest 

position the pressure on both sides of the main spool (1) 

is identical. Spring (5) maintains the spool in initial (open) 

position. Lines PPPP and P1P1P1P1 (A1A1A1A1 to AAAA, B1B1B1B1 to BBBB) are 

interconnected.   When  the  pressure  attains  the  value 

determined by the tension of spring (6), the pilot      

valve (4) opens and oil flows through nozzle (2).              

A pressure drop is created across the nozzle, which acts 

on the upper and lower faces of spool (1) and moves it 

causing throttling of flow from PPPP to P1P1P1P1 (A1A1A1A1 to AAAA, B1B1B1B1 to BBBB). 

When there is further increase of pressure, the flow is 

stopped completely, and further movement of spool (1) 

opens the TTTT line overflow and restricts pressure rise. 

Unrestricted flow in opposite direction   from A A A A to A1A1A1A1 (BBBB 

to B1B1B1B1) is effected through check valve (7) - design with 

check valve UZCR6…AZAZAZAZ; (UZCR6…BZBZBZBZ). 

 

 

Pressure reducing - relief valve, pilot

operated, sandwich plate type UZCR6

up to 31,5 MPaNS6 up to 50

The pressure reducing - relief valve type UZCUZCUZCUZCR6…R6…R6…R6… 

is used for reducing pressure in hydraulic systems. 

APPLICATION

DESCRIPTION OF  OPERATION



Type UZCR6WK 420 500 07.2012 - 2 -

PPPPTTTT

P1P1P1P1T1T1T1T1 A1A1A1A1 B1B1B1B1

AAAA BBBB
subplate side

component side

PPPPTTTT

P1P1P1P1T1T1T1T1 A1A1A1A1 B1B1B1B1

AAAA BBBB
subplate side

component side

PPPPTTTT

P1P1P1P1T1T1T1T1 A1A1A1A1B1B1B1B1

AAAABBBB
subplate side

component side

PPPPTTTT

P1P1P1P1T1T1T1T1 A1A1A1A1 B1B1B1B1

AAAA BBBB
subplate side

component side

PPPPTTTT

P1P1P1P1T1T1T1T1 A1A1A1A1B1B1B1B1

AAAABBBB
subplate side

component side

 version UZCR6...PPPP...  version UZCR6...AAAA...

 version UZCR6...AZAZAZAZ...

 version UZCR6...BBBB...

 version UZCR6...BZBZBZBZ...

33331,1,1,1,5  5  5  5  MMMMPPPPaaaa

Settable pressure range

1,7  kg

up tup tup tup to o o o 33331,1,1,1,5  5  5  5  MMMMPPPPaaaa

5 MPa; 10 MPa; 20 MPa; 31,5 MPa

0,0,0,0,3 3 3 3 -  3-  3-  3-  31,1,1,1,5  5  5  5  MMMMPPPPaaaa

33331,1,1,1,5  5  5  5  MMMMPPPPaaaa

55550 dm 0 dm 0 dm 0 dm /m/m/m/miiiinnnn
3333

PressPressPressPressure ure ure ure at at at at oooouuuutlet ctlet ctlet ctlet coooonnnnnectnectnectnectiiiioooonnnn

Weight

MMMMaaaaxxxximimimimum fum fum fum flllloooowwww

Viscosity range

Ambient temperature range

ReReReReqqqquuuuired fired fired fired fiiiiltrltrltrltratatatatiiiioooonnnn

Recommended  filtration

Hydraulic fluid

Nominal fluid viscosity

Fluid temperature range (in a tank)

mineral oil

up tup tup tup to o o o 11116666 µµµµmmmm

up to 10 µm
2 o

37 mm  /s at temperature 55   C
22,8 up to 380 mm  /s

recommended

max

-20  C  up to +70  Co o

40  C  up to  55  Co o

-20  C  up to +70  Co o

MMMMaaaaxxxximimimimum um um um operoperoperoperatatatatiiiing presng presng presng presssssureureureure

MMMMaaaaxxxximimimimum um um um set pressset pressset pressset pressureureureure

PressPressPressPressure ure ure ure at at at at iiiinnnnlet clet clet clet coooonnnnnectnectnectnectiiiioooonnnn

TECHNICAL  DATA

SCHEMES

Hydraulic schemes of valves type U U U UZZZZCCCCRRRR6...6...6...6...



Type UZCR6 WK 420 500 07.2012- 3 -

subplate side

component side

PPPP1111

TTTT1111

B1B1B1B1AAAA1111

3
1

3
2
,5

12,540,5

64

4
4

108

156 (max)

10 stroke

2
3

1

S 6 S 22

O 5,5 - 4 holes

4
0

vvvversersersersiiiioooonnnn UUUUZZZZCCCCRRRR6...6...6...6...P...P...P...P...

1
8

OVERALL AND CONNECTION DIMENSIONS

0,63

r 0,01/100 mm

3

PPPP

TTTT

BBBBAAAA

5
,9
5

1
6
,2
5

2
6
,5
5

0
,7
5

10,3

19

27,8

40,5

2

64 (min)

12,8

M5 depth 10 - 4 holes

O7,6 (max) - 4holes (P,T,A,B)

4
4
 (
m
in
)

3
2
,5

3
1
,7
5

1 - Seal oooo----ringringringring 9,29,29,29,25555    x 1,x 1,x 1,x 1,77778888     - 4 pcs/kit  (PPPP, TTTT, AAAA, BBBB) 

2 - Mounting holes configuration of a  subplate 

      in accordance with the standards listed below: 

      • CETOP RP 121HCETOP RP 121HCETOP RP 121HCETOP RP 121H - symbol CETOPCETOPCETOPCETOP 4.2-4-03030303 

        (nominal size CETOP 03CETOP 03CETOP 03CETOP 03) 

      • ISO 4401ISO 4401ISO 4401ISO 4401 - symbol ISO 4401ISO 4401ISO 4401ISO 4401-03030303-02-0-94 

       fixing screws  M5 x LM5 x LM5 x LM5 x L**** - 10.910.910.910.9  - 4 pcs/kit  

       in accordance with PN PN PN PN ----    EN ISO 4762EN ISO 4762EN ISO 4762EN ISO 4762 

       tightening torque Md = 9 NmMd = 9 NmMd = 9 NmMd = 9 Nm 

3 - Required surface finish of a subplate 

     NOTE:NOTE:NOTE:NOTE:    

     (****) - Required length of the screws LLLL is related to  

            type and  the number of hydraulic components  

            sandwich fitted 



Type UZCR6WK 420 500 07.2012 - 4 -

subplate side

component side

PPPP1111

TTTT1111

B1B1B1B1AAAA1111

vvvversersersersiiiioooonnnnssss: U U U UZZZZCCCCRRRR6...A...6...A...6...A...6...A... ; UUUUZZZZCRCRCRCR6666.........A.A.A.AZZZZ............

3
1

4
0

2
2

3
2
,5

4
4

12,540,5

64

108

156 (max)

10 stroke

1

S 6 S 22

2

1
5
,5

O 5,5 - 4 holes

OVERALL AND CONNECTION DIMENSIONS

0,63

r 0,01/100 mm

4

PPPP

TTTT

BBBBAAAA

5
,9
5

1
6
,2
5

2
6
,5
5

0
,7
5

10,3

19

27,8

40,5

3

64 (min)

12,8

M5 depth 10 - 4 holes

O7,6 (max) - 4holes (P,T,A,B)

4
4
 (
m
in
)

3
2
,5

3
1
,7
5

1 - Seal oooo----ringringringring 9,29,29,29,25555    x 1,x 1,x 1,x 1,77778888     - 4 pcs/kit  (PPPP, TTTT, AAAA, BBBB) 

2 - Check valve in line AAAA - A1A1A1A1 - only for version     

      UZCR6…AZAZAZAZ… 

3 - Mounting holes configuration of a  subplate 

      in accordance with the standards listed below: 

      • CETOP RP 121HCETOP RP 121HCETOP RP 121HCETOP RP 121H - symbol CETOPCETOPCETOPCETOP 4.2-4-03030303 

        (nominal size CETOP 03CETOP 03CETOP 03CETOP 03) 

      • ISO 4401ISO 4401ISO 4401ISO 4401 - symbol ISO 4401ISO 4401ISO 4401ISO 4401-03030303-02-0-94 

       fixing screws  M5 x LM5 x LM5 x LM5 x L**** - 10.910.910.910.9  - 4 pcs/kit  

       in accordance with PN PN PN PN ----    EN ISO 4762EN ISO 4762EN ISO 4762EN ISO 4762 

       tightening torque Md = 9 NmMd = 9 NmMd = 9 NmMd = 9 Nm 

4 - Required surface finish of a subplate 

     NOTE:NOTE:NOTE:NOTE:    

     (****) - Required length of the screws LLLL is related to  

            type and  the number of hydraulic components  

            sandwich fitted 



Type UZCR6 WK 420 500 07.2012- 5 -

vvvversersersersiiiioooonnnnssss: U U U UZZZZCCCCRRRR6...B...6...B...6...B...6...B... ; UUUUZZZZCRCRCRCR6666.........B.B.B.BZZZZ............

subplate side

component side

PPPP1111

TTTT1111

B1B1B1B1AAAA1111

1

S 6S 22

2

10108

156 (max)

1
5
,5

stroke

40,5

64

2
2

3
2
,5

3
1

4
4

4
0

O 5,5 - 4 holes12,5

OVERALL AND CONNECTION DIMENSIONS

0,63

r 0,01/100 mm

4

PPPP

TTTT

BBBBAAAA

5
,9
5

1
6
,2
5

2
6
,5
5

0
,7
5

10,3

19

27,8

40,5

3

64 (min)

12,8

M5 depth 10 - 4 holes

O7,6 (max) - 4holes (P,T,A,B)

4
4
 (
m
in
)

3
2
,5

3
1
,7
5

1 - Seal oooo----ringringringring 9,29,29,29,25555    x 1,x 1,x 1,x 1,77778888     - 4 pcs/kit  (PPPP, TTTT, AAAA, BBBB) 

2 - Check valve in line BBBB - BBBB1111 - only for version     

      UZCR6…BBBBZZZZ… 

3 - Mounting holes configuration of a  subplate 

      in accordance with the standards listed below: 

      • CETOP RP 121HCETOP RP 121HCETOP RP 121HCETOP RP 121H - symbol CETOPCETOPCETOPCETOP 4.2-4-03030303 

        (nominal size CETOP 03CETOP 03CETOP 03CETOP 03) 

      • ISO 4401ISO 4401ISO 4401ISO 4401 - symbol ISO 4401ISO 4401ISO 4401ISO 4401-03030303-02-0-94 

       fixing screws  M5 x LM5 x LM5 x LM5 x L**** - 10.910.910.910.9  - 4 pcs/kit  

       in accordance with PN PN PN PN ----    EN ISO 4762EN ISO 4762EN ISO 4762EN ISO 4762 

       tightening torque Md = 9 NmMd = 9 NmMd = 9 NmMd = 9 Nm 

4 - Required surface finish of a subplate 

     NOTE:NOTE:NOTE:NOTE:    

     (****) - Required length of the screws LLLL is related to  

            type and  the number of hydraulic components  

            sandwich fitted 



Type UZCR6WK 420 500 07.2012 - 6 -

5555

10101010

15151515

20202020101010100000 30303030 40404040 50505050

  
 p

  
 p

  
 p

  
 p

[ M
P
a

M
P
a

M
P
a

M
P
a
]

QQQQ [ddddm /minm /minm /minm /min]3333

P
1

P
1

P
1

P
1

25252525

20202020 1010101030303030

 P1 P1 P1 P1 →→→→    TTTT  P P P P →→→→ P1 P1 P1 P1 (AAAA →→→→ A A A A1111; B B B B →→→→ B1 B1 B1 B1)

pppp - QQQQ curves for different pressure settings

                                            flow direction

20202020

30303030

5 MPa

10 MPa

20 MPa

31,5 MPa

0,0,0,0,2222

0,0,0,0,4444

0,0,0,0,8888

0000 5555 11110000 11115555 22220000 22225555 33330000 33335555 44440000

QQQQ [dm  /dm  /dm  /dm  /minminminmin]3333

1,1,1,1,4444

1,1,1,1,0000

0,0,0,0,6666

1,1,1,1,2222

∆∆ ∆∆
 p p  p p

[ M
P
a

M
P
a

M
P
a

M
P
a
]

44445555 55550000

PERFORMANCE  CURVES

 measured at viscosity ν = 41 mm  /s  and temperature  t = 50  C2 o

CCCChhhhararararacteracteracteracteriiiiststststic cic cic cic cururururves ves ves ves oooof ff ff ff f lllloooowwww re re re ressssiiiissssttttanananancececece

 Characteristic curves of flow resistance ∆∆∆∆pppp(QQQQ) across

 the check valve, flow direction: AAAA →→→→ A1A1A1A1 (BBBB →→→→ BBBB1111)

CCCChhhhararararacteracteracteracteriiiiststststic cic cic cic cururururves ves ves ves oooof f f f oooouuuutlet prestlet prestlet prestlet presssssure ure ure ure iiiin ren ren ren rellllatatatatiiiioooonnnn

tttto o o o flflflfloooow rw rw rw rateateateate



Type UZCR6 WK 420 500 07.2012- 7 -

 Connection (according to schemes on page 2)

Reduction in line P                                                            = P

 Reduction in line A                                                                    = A

Reduction in line B          = B

 Reduction in line A + check valve  = AZ

 Reduction in line B + check valve = BZ

 Settable pressure range

 up to   5     MPa                                                                       =  50

 up to 10    MPa = 100

 up to 20    MPa                                                                        = 200

 up to  31,5 MPa = 315

UZCR

*6

 Sealing

 NBR  (for fluids on mineral oil base) = no code

 FKM  (for fluids on phosphate ester base)                              = V

 Series number

 (30-39) - connection and installation dimensions unchanged   = 3X

 series 32                                                                                  = 32

 Nominal size (NS)

 NS6  = 6

 Adjustment element

 set screw with internal hexagon = 2

 Further requirements in clear text

 (to be agreed with the manufacturer)

HOW  TO  ORDER

NOTES:NOTES:NOTES:NOTES:    

 

The pressure reducing - rlief valve should be ordered according to the above coding. 

The symbols in bold are The symbols in bold are The symbols in bold are The symbols in bold are the the the the preferred versions available in short delivery time.preferred versions available in short delivery time.preferred versions available in short delivery time.preferred versions available in short delivery time.    

Coding example: UZCR6 - 32/315 - 2 P 

 



Type UZCR6WK 420 500 07.2012

PONAR Wadowice S.A. 

ul. Wojska Polskiego 29 

34-100 Wadowice 

tel. +48 33 488 21 00 
fax.+48 33 488 21 03 

www.ponar-wadowice.pl 

- 8 -

SUBPLATES AND FIXING SCREWS

Subplates and screws fixing the pressure reducing

valve    MMMM5 5 5 5 x Lx Lx Lx L****- - - - 11110,0,0,0,9999 - 4 pcs/kit in accordance with

PPPPNNNN - - - -    EEEENNNN    IIIISSSSOOOO    4444777766662222 must  be  ordered separately.

Tightening torque MMMMd = d = d = d = 9 Nm9 Nm9 Nm9 Nm

NNNNOOOOTTTTEEEES:S:S:S:

(****) - Required  length  of  the screws LLLL  is  related

       to  type and  the number of hydraulic

       components sandwich fitted.

TTTThe he he he ssssubpubpubpubpllllate  ate  ate  ate  symbosymbosymbosymbol l l l iiiin bn bn bn boooold  ld  ld  ld  iiiis ts ts ts the preferredhe preferredhe preferredhe preferred

versversversversiiiioooon n n n aaaavvvvaaaaiiiillllabababable le le le iiiin n n n sssshhhhort deort deort deort delllliiiivery tvery tvery tvery t ime.ime.ime.ime.

Subplates  must  be  ordered  according  to  catalogue

sheet WWWWKKKK    444499996666    444488880000. Subplate symbols:

G 341/01 - threaded connections G 1/4

G 342/01 - threaded connections G 3/8

G 502/01 - threaded connections  G 1/2

G 341/02 - threaded connections M14 x 1,5

G 342/02 - threaded connections  M16 x 1,5


